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10000 m? = 100a = 1 ha

24 ha = 2400a = 240000 m?
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9ha O 9900 m?
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9ha = 900a = 90000 m?
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1.2t O 1200 kg
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1.2t = 1200 kg
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: 540000 m? = 54 ha
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© 10m? = 0.001 ha

: 3600a = 36 ha
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— 54 ha + 0.001 ha 4+ 36 ha = 90.001 ha




@0.9ha = Dm2
® 1.7t =] Jkg
® 60ha=] |a

@ 600m% = Ja
@ 80000kg =[ Jt
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O 24a=240m? @ 1300a = 1.3ha
@Ska = 80000 a @ 1.6km? =1600a

® 47m? =470a
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1km? = 100 ha = 10000 a = 1000000 m? ©]|2&
@ 24 a = 2400 m?

© 1300a = 13ha

@ 1.6km? = 16000 a

® 47m? = 047a
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@® 25km? = 2500a @ 4.9a=490ha
® 6800000 m? = 680 a (@)0.54 ha = 5400 m?

® 370a = 3.7m?
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1km? = 100 ha = 10000 a = 1000000 m?
@ 25km? = 250000 a

@ 4.9a = 0.49ha

® 6800000 m? = 68000 a

® 370a = 37000 m?
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@ 6900a, 69m?
® 850ha, 8.5a

® 4a, 40 m?

@ 5km?, 500000 m?
@780000 m?2, 78 ha
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@ 6900 a = 690000 m?
@ 5km? = 5000000 m?
® 850 ha = 85000 a

@ 4a=400 m?
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® 300a = 3m? @ 9km? = 90000 ha
@2030 m? =20.3a @ 43ha = 4300 m?2
® 770a = T7ha

B

@ 300a = 0.03km?
@ 9km? = 900 ha

@ 43 ha = 430000 m?
® 770a = 7.7ha
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® 3.6ha = 360 m?2 @ 46 a = 46000 m?
(@)240 a = 0.024 km? @ 300m? = 0.03a

® 8km? = 8000000 a
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@ 3.6ha = 3600 m?
@ 46a = 4600 m?
@ 300m? = 3a

® 8km? = 80000 a
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® 13ha=130a @)1.8km? = 18000 a
® 5.6km? = 5600 ha @ 92000a = 92ha

® 8.5km? = 850000 m?
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@ 13ha = 1300a

® 5.6km? = 560 ha

@ 92000a = 920 ha

® 8.5km? = 8500000 m?
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O 24000m? = 2.4ha
@)o.3km? = 31ha

® 3.6ha = 36000 m?

@ 150a=1.5ha

@ 24000a = 2.4km?2

® 0.3km? = 30 ha
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D 6400m? = 640a @ 8.4km? = 8400 ha
@Q%a =29ha @ 24t = 2400 kg

® 70000000g = 7t
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@D 6400m? = 64 a

@ 8.4km? = 840 ha

@ 24t = 24000 kg

® 70000000g = 70t
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D 350m? =35a @ 5.6km? = 5600 m?
® 3700a = 3.7ha @ 17t = 1700kg
@23000000 g =23t

B

® 350m? =35a

@ 5.6 km? = 5600000 m?
® 3700a = 37ha

@ 17t = 17000 kg
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800 x 600 + 2 = 240000( m?)
= 240000 m? = 2400a = 24 ha
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= 1200 x 600 + 2 = 360000(m?) = 3600(a)
(RIATE )= 3600 x 45 = 162000(kg) = 162(t)
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265 x 130 = 34450( m?)
—3445a
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(340 + 820) x 350 + 2 = 203000( m?)
= 20.3(ha)




